" Skill 3.12:

to 2 decimal places.

B Number skills: Converting between decimals and fractions Skill 1.1
1 Make these into percentages to 2 decimal places: .
1 ) 1 1 5
(a) 6— (b) 5- (e} 3~ (d) =
4 8 3 7
3 : 1 -1 1
(e) 2= ) 11~ (8). 9— (h) 5-
7 4 5 9
2 1 2 4
i 6= M 11~ k) 5-~ () 9—
9 . 3 7 9
2 - Make these into fractiong:
) (@ 280% (b) 540% (© 67% (d) 68%
(e) 32.5% _ ) 93.4% (8) 38.4% (h) 29.6%
@  4.05% @ 135% & 505% - 163%
é Number applications: Increasing or decreasing quantities in a ratio : Skill 2.4

1 If William drinks 250 mL of milk every 3 hours, then at this rate how many litres of milk
will he drink in; -

(@) 4 hours () 63 hours (©) 8 hours
(d) 9% hours (e) 12 hours

If a flywheel in a wheat harvester turng 35 times every 1% minutes then how long will it
take for the wheel to turn: :

(@) 70 times (b) 105 times (c) 17% times

(d) 87—%— times (e) . 157% times

Skill 3.11

press the solutions in surd form

b)) x2+4x-13=¢ (© x*+2x-5=0

(& x2+6x-11=0 ) x*-6x-20=0
Use the genera) quadratic equation to solve these €quations, and express the solutions in
surd form o
(@ x2-2x_5=9 (b) x2+3x-7=¢ (€©) x*+5x-7=0p
(d) x*-3x-8=¢ (0 X2dx_11=9 M x-x-10=¢
(tesian plane: Finding the gradient of 5 line between two points Skill 5.1.

(0, 0)'and (-3, 2) (b) (0, 0) and (1,—4) (€) (1,1)and (4, -3)
2,-5)and (5,3) (g (-2, 5) and (3, ~5)

d the gradient of the line between thege points using the formula method:
a) (1(, 1) and (4, 5) A () 3,6)and 2,8 (© (1,1 and 4,-2) -
- (1, —4) and (5, 2) (&) (-3,2)and (4,-6) '




SRR RSN

B 1 (@ 6% (b) 5125% (c) 333.33%
(d) 7143% (e) 242.86% (f) 1125%
(8 920% (h) SIL.11% () 622.22%
@) 113333%(k) 582.57% (1) 944.44%
L2 @28 ) sE @ & @ i
L OE 0% o8 o L
() ﬁ—oa W 1 & M o &
C'1(a) 334mL (b) 5412mL (o) 6662 mL 1
(d) 770¢mL (e) 1000mL =1 litre
2 (@) 3mins  (b) 44min () 2 min
(@) 32 min (¢) 63 min
D 1 (a) 14411, 1-VII (b) —2+«/—7 ~2- F
@ 1446, ~1-v6_ (@) 2443, 2-43
() —3+245,-3-2¢5 (f) 3++20, 3- V29
(a) 2+‘/——1+W (b) —3+2F
(© ‘SW— (@ 3i;m
(e) 4+2‘/—-2+4_ o 2V
@ -% ") 4 (9 -1 @ 2%
(e) -2 . A
@ 13 ®m 2 (-1 (@ 14
(e) —1%




